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457 978 245,75 

X 54 - 73 +42,52

1828 = 905 288,27
+ 2285•

24678 

2<)J�I 
12,63.,112,58 .,112,6 : 12,7.., 12,5 0.! 1_;� 1J� 

9,157.JÎ 9,155 _,j 9,251: 9,16 .J 9,15 0;! 1_;� IJ� c,.ûS1 
22,6 _,1 22,3 JÎ 22,5 : 23 _, 22 0;i 1 .;� b� c,.ûSI 

l.b.l_, b� y,S'., ,) � ..iJ�i ô� �-" •..>" JS � ::i..h:..)L.. 

8 u-1c- 150 ....._.; J...,L:.. .:F- � wl.i4ll J� :üy..J 
6 <}4J1_, 18 ..........i1 J...,L:.. :�_, 8 ww:.Lw>A (F- � l..) _, �I �y l..) 

:.J4 18 y, � � ._.:;li w\.11.,JI 0-- J� _;;$Î 

: ..::.�i...:....11 0F- �I 
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150 = 144 + 6
150 = 8 X 18 + 6 

8 
�fü=� 

18 �X'/=�� 
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4 <)J�I 
14 w.a...:.. -"" 28 : ul � (1 

200 y, 100 w.a...:.. J 100 w.a...:.. if" :.....b3 28 :i..t,$ l;,J 
200g if' W.S 28 :i..t,$ 

. .fi..,, :.....b3 14 � (100g) c) (2 
lkg=lOOOg 
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.fi..,, W.S 140 � 1 000g ) c) 

fi..,W.Sl40� 1kg) 1 .  
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80 X 25 • 2000 
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1 0:!�1 
1,205 , 12,34 , 12,5 , 12,05 , 120,5 

2 0:!�1 
475 2568 256,43 

X 43 +4444 - 75.52
1425 7012 --

19000 
180.91

20425 
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. _,.,.... . _,.,.... U" � U" .r--
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2460 = 246 X 10 + 3 ($1 2463 = 2460 + 3 

246 y, :i........ill J.,..b 
1� 246 �..r =

10 c),:. 2468 :.......i J.,..b 0C- � .i\......., .l.i.c. .ifa.JI .l.>c- :i.!y-J 
2460 = 246 X 1 0 + 8 ($1 2468 = 2460 + 8 

246 y, :i........ill J.,..b 
1-lic. 246 .il.... .l.i.c. 
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···''"·11 w. �� - <.F-

100 •y 15 JÀ 1500:011..:,.)\.j L. 1 • 
JO� �y, 100 JS ,..i 

J5Q = )Ü X [5 i.ji JO •y 15 _JÀ �\ 

: JO c.,3 �t..ll y �J J 00 c),:. � L.J* 
150 = 10 x 15 .J 10 .l.;,., I0 � 100 

1500 - 150 :y,J ùt....ill Y-'-' uc- � f, 
1500- 150 = 1350 

1 � 1350 \.....,YI 

ti........11 
: 1 Jl_,..JI 

10+ 120 y..,.; ù:!S.Jw...11 .l.lc. uc- � 
130 JÀ 0.,S) .• :...11 .llr. JO+ 120 • 130 

: û)lj\..:,j\ .l.lc. uc- � 
� 'l 1:.i.i, .w.. 45 � Y. ô.l.>.1 J :Wb c..<3

(45 + 45 • 90) � 'l \� .lai. 90 �Y. 2 LJ:iilib <} 
(45 + 45 + 45 = 13� � 1� .w.. 135 �Y. û)lsb 3 c..<3

µPo ) . ..:....li JS Ji;.! û)liL,,. 3 r .)! 
: 2 Jl_,...ll 
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150 X 10 • 1500 : �I �.l l..
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1 ).à;.i 900 : y,�I �,; L. 
6000 + 1500 + 900 : t_,_.ll � f, 
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l U..l 8400 .a. �l �l · •- ;- .). 1.)-4:l 
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+ 85,70
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:2 Jl:,...JI 
·u ·.•,.Il ··"" Y Î � · ·.• .. \) � -� �1U,Y"' � ...,..--- .J . �y,;, U . 

400+50 • 450 ,) .b)l;

100 � y,, 50 
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fa # 100 J$ cj U:!fa.li 0"' jil 8 ;; _;4-,.ll ,•,Sie"• .-, 
yl 4 (,?i 8 w.....:, ,"iSl{i ,1 fa# 50 <)

jil 32 c;I 8 wlY' 4 ··,SI{, ,t fa# 400 � 
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-(t�_,..ll 1� JS.)) � C.J 4. 114 .;--#, 4 .,.,,w, t ..... i'il J1 .,; .. ,1 
1 ô:!�1 

205 X 24 

15,024 

:�l�>!�I 

458,49 - 287,76 ! 287,49 + 150,24 
2 ô:!�1 

. �tJI .ll..lc \11 l>" JS .) JI.,. \11 �.) y, L.. 
204 , 15 ; 5,05 ; 150,24 

. .li.le. YI .� l>" JS y,,S � � ..,.,:.SI 

4 ô:!�1 
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-�' � �\ l>" _jil 70 Y.., J:! � �
-.J�-l 50 :ï....hs JS � .140 g wl�� � � �I t4.! 

Y ._,.,)WI 1� î,c. y., .J:! :i.e �I �I � .l.lc y,, L.. ( 1 

Il 
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15 024 = 15024 
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1000 J

204 15 = 20415 
' 

100 J

205 
X 24 

820 
+ 410•

- 4920

458,49 150,24 
- 287.76 + 287,49
• 170,73 - 437,73

2 û:!_;.o:ill 

5 y, 15,024 J.WI <} Jh)/1 �.J 

4 y, 204, 15 .:,,wl .} .:,h)/1 �..! 

5 05 = 505
' 100-'

150 24 = 15024 
' 

100 J

5 y, 5,05 .:,.la.li .} Jb)II �..! 

0 y, 150,24 .l.WI <} .lh)/1 �..! 

3 û:!_;.o:il1 

15 � 180 � � JS <} �)l.:i!1 J.le, i:..� � 
d5 x 10 = 150 :J.,..15 _;;,,��y:&l..) ::.\......,il\

d5 x 11= 165 
.J 5 X J2 = 180 

TTo 15 

-1 5 -1 12 

30 

0 

18-15=3

15X2=30 

30-30=0

u.....ll · "l..1- ë-""' .

12 �°" 15 � 180 � J...,h 
12�-......JS -�,=

4 . . .�,, ŒJ--

: • ·.• .. 11 .......s -� � L):ly,,, - u 

' .I.< 100 • \...1 . '·.:.!\ :i......s . �Y".,.,,.. c:-- L):ly,,, .. (jC, . 

18 u.....; ,'11(, ,;; 100 <} 1�) 200 � y, 100
18 =2x9 ! 200 =2xl00 

9 y, 18 � 
y! 9 ·•JI{, ;, fa# 100 tbil 

9 ûly 5 •JI{,;. fa# 500.} 1�) 100 ûly 5 y. 500 
9x5 = 45 ! 1 00x5 =500 

f]J4s fi fa# soo � 
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10� 1 'Â\�

:i.!

t......J

I 
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U:! 

u.......J1 

5 u1:,70 �:�I �WC- �(1 
u...JI · · L.1 5 uw:.W... � L.I ::..........JI .. � ,.) . ' 

14 y, :.........JI J...,.l:.. 70 = 5 X 14 
14000 g ..,si ù,>;JI 0- 14 kg 4-.>:! y)b.11 � 

140 u1:, 14000 � :-,.,1..11 .l.l<:- wc- � 
100 .JA :..........Ji J...,.l:.. 140 X 100 = 14000 ::..........JI 

50 X J 00 • 5000 J_,;ll <} �I ë-!/ c)..'.i (.F � (2 
1 1.:.,/.l 5000 � .>:!!1 . • � 

5000 X 7 = 35000 
1 U..l 35000 
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(t�_,..ll 1� JS c} )� r.J ••u• � �WI W'JI JI •IÜ.•ul 
l�I

987 ,4 + 42,06 

A_..,.._.__. _ _.D 
[ 

, . 

:�l�Y.�I 
175,2 X 34 127 X 52 

2 0:!_;,o:.ll 

3 0:!_;,o:.ll 
50 J....:...û ,J,...:,u.. '-1 � 01 w.ll) ,( 25 m) lfa 25 .J_,b J,W J.,u.S. �j •+Jl 

.�\ � J,Wll 11'. 0-- __µ.:...
\'� � .?I J/.lu..ll 0-- .lJJ:. y,Si y, l.. 

4 0:!_;,o:.ll 
.w�l..., 3 r) (50 km) fa# 50 ,j\.- � ,-.c y.JI� e-:ly �

\' (25km ) fa# 25 � .._.j)l.ll ,.l...11 � L. 

4..!WI 
·!'+""hl

_,
� l./GS y.i..ll t.5.fa!.1 ,� JS 0-- J'.,l_,\11 � 4 ,Îj�

._;� 250 .b.1_,JI y\:;S.ll y...-� 12 ;;,,..,_;..i.JI r) 
. • 1 y:.ll ,:Y:, 0-- 1 0 % � 0-- y..i..!I .ll.i:...I , c,..uSJI • 1 Y:, .i;c. 

\' Y-.l.JI t.S 3wl yGS rS (1 
\'c,..uSJI �l,J y.l...11 �.l rS (2

J_;_.,.!111'. t4.! -0..,Wl J_;_.,.!I 0-- (60 cm) � 60 .):1.l...11 � .b.i_.,JI y\:;S.11 ù;!..:.! (3
.fa 10 \+l_,b � <}

\' y.l...11 IAl_fa!.1 ._;.li Jl_;_,\11 � .lJJ:. y, l.. \'c,..uSJI JS ù;l..:.l J,•i .,\1 J_;_.,.!I J_,J. y, l.. 
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1 � 

t"" )1 J.,..1 ..>" y, ........, .,JI 
AB CD �Y' �y

AB�\'; o,i, G J AD �I'; oii,E 
GC � t""->' 

F � oc :i.....l.ill F..J A D �\ c_.k. �.)-..,.= 0..,s:; E F ��y
,Jl_,1.�1 � 't"iy,ll JS,.:, :JS,.!JI 1:i._ (""') �J_,y-:..ll '--""1_.,.JI fo. ul .A,:� 

.i.L.::JI , WWI yl _,jll , ,.::.,\; o'i i , Il 
3 6:/_;,o::.ll 

: 4--,.i.,.o � .?I J.!J\.WI ù-< J.it:. ySI � � 

50 1, ... .c .c· . .Il 11 25 01 J . 1...1•CS- �J � <.S"', � • 

25 m • 2500 cm

50 y, 50 u-1c 2500 � J...,6.

(0,!1,� fa� c)) � ,.Jj�IJ JJ� � 1...J• 

�Wll J_,1. 50 (cm) lm 25m 
c..l:J\.W\ .).lt:. l 2 2x25 =50 

_.là.. 50 � · • 

4 6:/_;,o::.l4 
25km � � j)'JI o.wl � 

3h ù.-j c,r ô.wl ...:.,,J 50...........; y, 25 i:) 1....)l;

lh30min <;Î ù...o;3 '-<-l.. c,r 3h ...........; 
lh30mm � 25km � �j)l.ll O.wj 

4.JWI 
48Xl2 :�1 J.lt:. � � (l 

]2X4=48 
� 48 .Jf::ll �;,:., 

250x48 �1 � � � (2 
250X48 =12000 

J� 12000 �� 

·-·'""'' w . � .� .o.F- -� 
120 XlOO • 12000 <;Î 100 •y 120 y, 12000 011....)l;

120 x JO � � 12000 c,;.i ).:.aJ 10 � � � 100 � c) 
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�I 

�1 

•_.ca ... l\ · •. •-� �\ · •,; � L. · � •
...,...,....... <.)A.> � • <.)A.> U"- . t' 

100 

10 

12000 - 1200= 10800 
1 ÜjJ 1 0800 �l,,ll �, �J

:S,.. J .b. Jl..w.....l ·.< •. :� J . (.)-"":/ 

100 X 120 = 12000 

16 

10 X 120 = 1200 

60 X 48 :--,.)_,li J_,]., .:.,C. � (3 
60 X 48 = 2880 

l O c.Jc 2880 :t1-a11 ..uc. .:.,c. � /,
288 X )0 = 2880 

288 y,, l O c.Jc 2880 ..J J...�

-.) .J�288 �.s�



6 �.) t�,J,4 
(t�_,..!I li.\ JS c) )"---:a C.J •·11• J---#. �w, u�, JI ••Ï·ul 

1 W:!�' 
= ! > ! < j _,... JI =l; �I _, Ji;1 

1 O,ll ..... 0,1 LO l 5, 11 ..... 5,021 l 46,35 ..... 35,46 l 74 ..... 47 I 

145,86 + 85,791145,86 - 85,79 I 73 X 25 1 
3 CJ:!�I 

. ( 57 5 g ) l.;c- 57 5 cr_;:,,. y\:iS.11 �

(1950 g ) rl.;è 1550 � _;l! if"-'� hi, .11 �
... -,1.;.;,. � <..,-iJS 6 �.) � 

(g k) 1 · .l.(IL, 4...,..w]\ .....,:;$1 � � 1 J.,, ··.11 �, . J. L.. r--P�- -- . , .;6 .. ,.,- ...,. .  

4 CJ:!�I 
1 _,..., )-A:1 'J Ü:!:i.JI �\ .).le- _,4 L.. . r.illl ô .fi �)l:;11 è!.J U" _;� , � 40 �I <}

Y �\.,JI o i.\ 

�w, 

. - -.ill t\ :...i.11 · � ...... ë (Y'

.�.i11 0-- rl.;è# 75 __..le. J..:w �1 0-- r'.;è# 100 � .A! c.:,i �
;;,_,,....L:,.J1 JI .le-Y 1 �� J _,�I �i _, Ji;I ( l 

1
9400 

1
9000 

1 l 400 
1

100 
1 

( 9 k) �
I � 1 _ _ _ 750 _ _ 75 _ (9 k) �.ill � _
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J30 1...1 : ô.i...11 

: J.//1 �,&! 

:<1..;J,., y.,,S�i)&,•�l ..iiz-'/1 ...,si 

136.65 - 89.121 - 151.2• 

: �'JI J,Sll tlj, .J,l;Sll ,)! � 

12.33g = ...... kg 

23000g= ..... kg 

3.10St = .... kg 

:.:..lûli (.;J.)4ll) 

20 h �i....,� ;)&- �IJ.!1 •� r-lfJ cl.Ili; Ui..li �1 �J 

• �I JI.!,• 1,'J·èl· ..;i1 .i,!l,.J.ll Ô.W\ J». 21 h lS lllll �1-11 r.r-- -� -lf-'l ��JJ'-"J

AB=4em 

CA=5cm 

• .l ts .� •• u•

, f.J..IW i"""11' � � 

1690 DA � .!ll..,i ..,,.'li ;:il� l�l � uJJ ....-,1 



1.so 0.50 
0.50 
o.so

1.50 0.50 
0.50 
0.50 

0.50 
1.50 0.50 

0.50 
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0.75 
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0.25 
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12.33 q = 1233 kg 
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.::.u,.11 .)$. � • 

�.JYl.l.le �-

l+\Jlo ..wî l.f..ia.P .J 120m 4-l-Jb �I ◄yhi, •• da) 
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0.25 
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"'-Il.a.. "i' _;-,,a\...:4>. . 
• J_.iwi1 ··• JI ,-li �.. .. . 
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1.5 0.5 Ir 
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. 36 X 325 = • 863.85 - 432.66 = , 52.04 + 45.02 = 

: �l:ill 6=,>flll 
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05 X 3: 1.50 

0.25x4 = 1 

0.25 X 6 = 1.50 

1.50 
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0.5/04 

� _fo..11 ,::.A/ . "' 

Lu -...,ru\1 ..:,L,L,,J\ • · I • - _,...r,, - - � -

863.85 • 432.66 = 431.19 • 52.04 + 45.02 = 502.06 

1 AB] 
1 AB) 

36 X325 =1170 
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� � · �.,., · �I _,..511 .l . .. ,. <.J# ŒI .. .J �-

• [ AC ] = 1 CB]
= 6cm. [ AC J = 3cm. 1 CB]=3cm

30000 DA + 24600 DA+ 45000 DA= 99600 DA . 
99600 DA : •JH. YI J$ .:,.l 

99600 DA - 65-400 DA• 34200 DA • 
34200 DA : ,. ,.,.1-....,J, �I 

34200 DA : 10 = 3420 DA 
3420 DA : J" ,-.1_,JI .i....11 .:,.l 
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